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General Instructions:
1. This question paper contains two parts A and B. Each part is compulsory. 
2. Both Part A and Part B have choices. 
3. Part-A has 2 sections: 
a. Section – I is short answer questions, to be answered in one word or one line. 
b. Section – II has two case studies questions. Each case study has 4 case-based subparts. An examinee is to attempt any 4 out of the 5 subparts. 
4. Part - B is Descriptive Paper. 
5. Part- B has three sections 
a. Section-I is short answer questions of 2 marks each in which two question have internal options. 
b. Section-II is long answer questions of 3 marks each in which two questions have internal options. 
c. Section-III is very long answer questions of 5 marks each in which one question has internal option. 
6. All programming questions are to be answered using Python Language only.

PART A
Section-I 
Select the most appropriate option out of the options given for each question. Attempt any 15 questions from question no 1 to 21.
1) Identify the identifier(s) among the following.						  1
a) none
b) try
c) break
d) writes
2) Write the invalid operator(s) in python among the following.				  1
a) not
b) =>
c) **
d) <>
3) Write the modules to be included to execute the following:					1
a) pow()
b) writerow()
4) Which of the following command can be used to read “n” characters from a text file     1   using the file object <file>?
a) file.read(n)
b) n = file.read()
c) file.readline(n)
d) file.readlines(n)
5) Which of the following is/are invalid dictionary declaration(s)?				1
a) D={}
b) D=dict()
c) D={“1:one”, “2:two” , “3:three” }
d) D=dict([[1,'one'],[2,'two']])
6) Name any two immutable datatypes in python.						 1
7) What is the default return value of a function?						 1
8) Consider the tuple T=(10,20,30,40,50). Write statement that produces the output as (50,30,10).											 1
9) Identify the domain name in the URL-https://www.School.com/default.aspx		1
10) Name the device used to connect two dissimilar networks.					 1
11) In SQL _______ operator is used to search for a specific pattern.				1
12) Which statement is wrong about PRIMARY KEY constraint in SQL?			1
a) The Primary key uniquely identifies each record in a SQL database table.
b) Primary key can be made based on multiple columns
c) Primary key must be made of any single column
d) Primary keys must contain UNIQUE values.
13) Which is operator is used to compare a value to a specified list of values?		 1
a) Between          
b) In
c) And
d) Is null.
14) In SQL which command is used to show all the tables in a database?			 1


15)  Suppose S=”PreBoardExam”. Which of the following statement(s) will generate error? 1
a) S[0:20:2]
b) S[0:-3:2]
c) S[0] = “p”
d) All of these
16) Write the output of the following Python code.						  1
fori in range(10,0,-2):
print(i, end='#')
17) Write the type of tokens for the following:							 1
a) 	0o456
b) 456	
18) Which is the table constraint used to stop null values to be entered in the field?        1     
a) Unique
b) Not NULL
c) Not Empty
d) None
19) What are cookies	?                                                                                                           1
20) What do you mean by degree and cardinality of a relation in SQL?			1
21) _____ describes the maximum data transfer rate of a network or Internet connection. 1

Section-II
Both the Case study based questions are compulsory. Attempt any 4 sub parts from each question. Each question carries 1 mark.
22) Sharmila a class XII student has the SQL table named Order as given below. Help her to do the following.
Table:Order
	OrderID
	OrderDate
	SalesPerson
	OrderAmount

	P101
	2020-10-10
	Harshit 
	3000

	P102
	2019-09-08
	Vinay
	4000

	P103
	2017-10-20
	Sachin
	3200

	P104
	2018-09-09
	Ramdas
	NULL

	P105
	2020-11-21
	Vincent
	4600


a) Identify the most suitable column to become the primary key of this table and also write the most suitable datatype for that column.					1
b) Write the output of the following SQL command:					1
a. Select AVG(OrderAmount) from Order;
c) Write the command to insert a new row with the following values:			1
Orderid=P106, OrderDate=2020-02-15,  SalesPerson=Ravi, OrderAmount=NULL
d) She has written the following command to update the rows having NULL values in OrderAmount column, but it is showing an error. 					1
Update table Order set OrderAmount=4000 where OrderAmount=NULL;
Help her to correct the error.
e) Write command to delete all the rows in the table without deleting the table.	1
23) Ms.Asha has created a CSV file “contacts.csv” which contains name and contact number of her friends.She has written two functions - one to add one more record to it and the other to display all records in it. Help her to complete the code by filling the blanks.
import csv
defadd_rec(name,contactno):     # function to add a record
file=open(“contacts.csv”,_____ )   Line 1
WT=_____ ._____________       Line 2
WT.________________        Line 3
file.close()
defdisplay_rec(filename):  # function to read records
file = open(_______, _____  )   Line 4
RD= _____ .___________         Line 5
for rec in RD:
print(rec)
add_rec(“Nirav”,”67584903”)
display_rec(“contacts.csv”)
a) Line 1  - To open the file in appropriate mode.						1
b) Line 2 – To create the writer object.							1
c) Line 3 – To write the record in the file.							1
d) Line 4 – To open the file in appropriate mode.						1
e) Line 5 – To create the reader object.							1

PART B
Section-I
24) Evaluate the following expressions:								2
a) 1 or None and 'a' or 'b'
b) 3**2/3*6-5*4
25) Differentiate between Viruses and Trojan Horse.						2
OR
Differentiate between circuit switching and packet switching techniques in data communication.
26) Expand the following terms:									2
      a) GPRS        b) HTTP       c)  URL        d) SMTP
27) What are default arguments? Explain with a suitable example.				2
OR
Explain the use of global keyword in Python with a suitable example.
28) Rewrite the following code in Python after removing all syntax error(s). Underline each correction done in the code:									2
DAY =1
for C in range[1,4]: 
 DAY =+ 2
if  DAY%2=0:
print("C",C,seps='#')
else
continue
29) What possible output(s) are expected to be displayed on screen at the time of execution of the program from the following Python  code ? Also specify the minimum & maximum values that can be assigned to variable Start. 						2
import random  
 VAL=[80,70,60,50,40,30,20,10] 
 Start=random.randint(1,3)  
End=random.randint(Start,4)  
for I in range(Start,End+1):   
print (VAL[I],end="*")

a) 40 * 30 * 20 * 10 *
b) 70 * 60 * 50 * 40 * 
c) 60 * 50 * 40 * 
d) 60 * 50 * 40 * 30 *  
30) Differentiate between candidate key and alternate key with a suitable table containing some information.										2
31) a) Write python code to create a MySQL connection named MyConn for localhost, with username = "root" , password = "password" and name of the database is “Employee”.
b) What is the use of rowcount attribute of cursor?						2
32) Differentiate between group by and having clause in SQL with a suitable example.    2
33) Find and write the output of the following code:						2
defFind_out(Msg1):
Msg2="GUeSTsR" 
Msg3="" 
for I in range(0,len(Msg2)+1):   
if Msg1[I]>="A" and Msg1[I]<="M":       
Msg3=Msg3+Msg1[I]   
elif Msg1[I]>="N" and Msg1[I]<="Z":       
 Msg3=Msg3+Msg2[I]   
else:      
Msg3=Msg3+"*" 
print (Msg3 )     
Find_out("AYeXAM@2")
Section- II
34) Write a function Exchange(Arr) in python which accepts a list Arrcontaining elements and swap the elements of every even location with its following odd location and print the list.												3
Sample input data of the list
Arr=[10,20,30,40,50,60,70,80,90]
Output
Arr=[20,10,30,40,50,60,80,70,90]
35) Write a function Count_All() in Python to count and display the number of “the” or “this” (ignore case) present in the text file “notes.txt”.						3
If the content of “notes.txt” is as follows:
This is a small text file
In this file there are some words
The number of words in THE file is 27
This is the last line
The output of the function should be :
The number of the or this is:6
OR
Write a function Line_in() in python to display allthe lines containing “in” as an independent  word along with the line number in the text file “diary.txt”.
If the content of diary.txt is as follows:
Programming in python
Installation guide
Cyber safety
Line in an artwork
The output of the function should be :
Line 1:Programming in python
Line 4:Line in an artwork
36) Write the outputs of the SQL queries (i) to (iii) based on the relations Client and Party given below:											3
	ClientID
	ClientName
	Address
	Phone
	NoOfGuests
	PartyID

	C101
	Sudhakar Singh
	A10, New Road
	675876454
	25
	P101

	C102
	S.R Rachana
	C153, King Circle
	456837459
	50
	P102

	C102
	Archana
	A15-Anand Nagar
	874589349
	29
	P101

	C103
	Chandra Kumar
	B-13,Kings Corner
	745839475
	80
	P103


Table:Client

Table: Party
	PartyID
	PartyName
	Costperperson

	P101
	Birthday
	450

	P102
	Wedding
	700

	P103
	Anniversary
	500

	P104
	Engagement
	550


a) SELECT CLIENTNAME,PHONE,P.PARTYID,DESCRIPTION FROM PARTY P, CLIENT C WHERE P.PARTYID = C.PARTYID AND NOOFGUESTS > 50;
b) SELECT CLIENTID, ADDRESS, NOOFGUESTS FROM CLIENT WHERE ADDRESS LIKE ‘%king%’;
c) SELECT PARTYID, SUM(NOOFGUESTS) FROM CLIENT GROUP BY PARTYID HAVING COUNT(PARTYID)>1;
37) Write a function in python push_stack(S,Names) where S is the stack and Namesis a list containing names. The function should push all names having more than 5 characters into the stack S.Display the stack if it has at least one element, otherwise display appropriate error message.								3
OR
Write a function pop_stack(S) to do pop operation where S is a stack containing a list of numbers. The function should also display &return the popped element from the stack. 
Section III
 (
Engineering
Admin
Business
Media
Delhi Head Office
Chennai Campus
)38) Perfect Edu Services Ltd. is an educational organisation. It is planning to set-up its India campus at Chennai-with its head office at	 Delhi. The Chennai campus has 4 main buildings-ADMIN, ENGINEERING, BUSINESS and MEDIA.You as a network expert have to suggest the best network related solutions for their problems raised in(i) to (v), keeping in mind the distance between the buildings and other given parameters.        5





Distance between various buildings:
	Admin to Engineering
	55m

	Admin to Business
	110m

	Admin to Media
	65m

	Engineering to Business
	60m

	Engineering to Medai
	50m

	Business to Media
	55m

	Delhi Head Office to Chennai Campus
	2225KM




[bookmark: _GoBack]Number of computers in various buildings:
	Admin
	120

	Engineering
	70

	Business
	42

	Media
	10

	Delhi Head Office
	20


a) Suggest the most appropriate location of the server inside the CHENNAI campus to get the best connectivity for maximum number of computers. Justify your answer.
b) Suggest and draw the cable layout to efficiently connect various buildings within the CHENNAI campus for connecting the computers.
c) Suggest a system (hardware/software) to prevent unauthorized access to or from the network with in the campus.
d) Suggest the placement of the following devices in the Chennai campus:
i. Switch/Hub
ii. Repeater
e) Suggest the most suitable media to provide secure, fast and reliable data connectivity between Delhi Head Office and the Chennai Office Setup.
39) Write SQL commands for questions (a) to (e) based on the tables given below:	 5
Table: EMPLOYEE
	EMPID
	NAME
	DESIGNATION
	GENDER
	DOJ
	SALARY
	DEPID

	E101
	ARUN
	ACCOUNTANT
	M
	12/08/2010
	20000
	101

	E102
	KARAN
	MANAGER
	M
	01/01/2012
	30000
	104

	E103
	DIVYA
	CLERK
	F
	31/08/2017
	18000
	103

	E104
	VIKAS
	CLERK
	M
	01/10/2013
	19000
	103

	E105
	SANGEETA
	ACCOUNTANT
	F
	24/02/2011
	19500
	101

	E106
	TARUN
	SALESMAN
	M
	03/09/2009
	20500
	102

	E106
	APURVA
	MANAGER
	F
	26/01/2008
	32000
	101



Table: DEPARTMENT
	DEPID
	DEPARTMENT

	101
	ACCOUNTS

	102
	SALES

	103
	PRODUCTION

	104
	MARKETING



a) Display the name, designation and salary of all employees joined after 01/01/2012.
b) Display the name, department and department id of all employees.
c) Display the gender and number of employees in each gender who are getting more than 19000 salary.
d) Display the maximum and minimum salary all female employees.
e) Display name,designation and salary  of all employees working in Accounts department.
40) A binary file “PRODUCT.DAT” has structure [Prod_Id, Product_Name, Color, Price].     5 
a) Write a user defined function Add_Product() to input data for a record and append to “PRODUCT.DAT”.
b) Write a user defined function Transfer_Product(PColor) which accepts the Color of the product as argument and copy  all those records of the given Color to another binary file “COLOR.DAT”.						
OR
A binary file “ACCOUNT.DAT” has structure [Account_No, Cust_Name, Acc_Type, Balance_Amt]. Write a function Update_Balance(AcNo) that takes AcNo, the Account No as argument to update the record in the file by adding 1000 to the current balance amount of the given AcNo.
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